MSH-4MSH Industrial Line

Multi-stage centrifugal pumps that guarantee
high pressure. Particularly suitable for civil
and industrial applications, in particular
pressurisation, fire fighting and washing
systems.

Construction features . Motor

Pump body

Motor bracket

Impeller

cast iron 2 and 4 poles 3~ 230/400V - 50Hz P < 4kW
- induction motor 3~ 400/690V - 50Hz P > 4kW
cast iron .
Insulation class F
brass

Mechanical seal

Protection degree IPX5

ceramic-graphite-NBR

Shaft

stainless steel AlISI 304

Liquid temperature

-10 + +90 °C

Operating pressure

max 30 bar

temeee hydraulic size

— pump type

of nozzle

01 02 onrequest

|MSH C = 3 / 18,5,'4 -01 """""" direction standard

[ mech. seal standard

4 Widia-Widia

------ nominal power (HP)

...... No. of impellers

------ pump version H horizontal

o)

505



MSH ~2900 rpm

Q (m3/h - I/min - I/s
P2 » @ 6 9 12 15 18 21 24
TYPE T Y G 100 150 200 | 250 | 300 | 350 | 400
HP KW 1,67 25 333 | 417 5 583 | 6,67
H (m)
-3/5,5 75 55 6,0 101 88,2 86,3 83,7 78,6 71,2 62,6 53,4 43,2
-4/7,5 10 75 78 13,0 18,0 16,7 113,0 106,5 96,8 85,2 731 59,7
MSHA -5/9,2 12,5 9,2 9,8 16,4 148,2 145,9 138,8 130,0 119,8 105,2 90,7 73,8
-6/11 15 11 1,8 19,6 1775 174,2 168,9 158,9 144,2 126,7 107,9 88,0
-8/15 20 15 15,5 26,3 237,8 233,44 227,0 213,8 194,8 1714 146,0 19,5
Q (m3/h - I/min - I/s)
P2 12 | 15 | 18 | 21 [ 24 | 27 | 30 | 33 | 36 | 39
TYPE |fv1v 3_"%’0\, 0 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650
HP KW 333|417 | 5 |583|667| 75 | 833 917 | 10 10,83
H (m)
-2/7,5 10 75 8,2 13,4 74,5 72,7 711 68,7 66,1 62,4 58,3 53,8 49,0 43,9 38,6
-3R/9,2 12,5 9,2 10,0 16,7 101,8 | 98,9 96,2 914 874 81,0 74,3 66,5 58,8 50,8 424
MSHB -3/1 15 1" 1,8 19,6 12,7 | 109,2 | 106,9 | 1029 | 99,6 941 88,1 81,3 74,5 67,2 59,3
-4/15 20 15 15,9 26,5 1497 | 146,5 | 1434 | 138,2 | 1334 | 1254 171 107,4 97,8 87,7 76,2
-5/18,5 25 18,5 19,8 33,0 1877 | 1829 | 179,2 | 172,3 | 166,7 | 1572 | 146,7 | 1349 | 122,7 | 109,9 | 96,2
-6/22 30 22 23,6 38,8 2259 | 2204 | 216,3 | 207,1 2011 | 1896 | 176,6 | 162,5 | 1475 | 1317 1151
Q (m3/h - I/min - I/s)
P2 o1 . 18 24 30 36 42 48 54 57
TYPE oW |3-a00vl © 300 | 400 | 500 | 600 | 700 | 800 | 900 | 950
HP KW 5 667 | 833 | 10 | 1167 | 1333 | 15 | 1583
H (m)
-2R1/11 15 1" 13,0 214 78,4 79,5 76,3 72,3 67,6 61,8 55,2 46,9 41,8
-3R/15 20 15 17,4 28,9 110,4 11,9 107,2 101,5 94,5 85,8 7513 61,5 53,0
MSHC -3/18,5 25 18,5 20,5 34,0 127,6 128,8 124,7 118,8 m,9 104,0 951 85,3 79,2
-4R1/22 30 22 25,3 415 159,5 159,0 153,6 1457 136,3 125,0 112,2 98,1 88,3
-5/30 40 30 34,6 594 2147 215,7 208,6 198,9 187,2 173,9 158,5 141,2 130,9
-6/37 50 37 41,2 72,8 256,5 2571 249,2 238,2 2246 209,0 191,3 170,7 158,9
Q (m3/h - I/min - I/s)
P2 30 | 36 | 42 | 48 | 54 | 60 | 66 | 72 | 78 | 84
TYPE |fv1v 3_"(1%)0\, 0 | 500 | 600 | 700 | 800 | 900 | 1000 | 1100 | 1200 | 1300 | 1400
HP KW 833 | 10 | 11,67 |13,33| 15 |16,67 |18,33| 20 | 2167|2333
H (m)
-2/15 20 15 16,6 27,6 75,9 75,9 73,8 71,0 67,8 64,3 60,4 56,1 515 46,4 41,0
-3R/18,5 25 18,5 20,3 33,7 99,6 99,6 96,0 91,7 87,5 82,7 771 70,8 64,0 56,6 48,5
MSHD -3/22 30 22 23,7 39,3 13,1 13,9 | 110,8 | 106,7 | 102,0 | 96,9 914 85,4 78,8 71,2 63,0
-4/30 40 30 33,0 57,2 152,0 | 152,5 | 148,9 | 1441 | 138,7 | 18324 | 1251 17,0 108,1 98,8 89,0
-5/37 50 37 40,6 71,9 1896 | 1914 | 1864 | 179,9 | 173,3 | 165,7 | 157,0 | 1470 | 136,0 | 1245 | 1123
506

S




P2 [kW]

NPSH [m]

H[m]

P2 [kW]

NPSH [m]

H [m]

ne [%]

ne [%]

MSH ~2900 rpm

150
180
250 ‘
_ t7s0 L 7s0
~ A =] B
200
5
150 t 500 \ | 500
p)
—
I sy
— ™~ 3
100
\ 3R \\ \
— [~ | 250 . | 250
—
\\ . — ~—_
%0 — —
o o o
5 10 15 30 20 40
] 750
100
80
60 T
40 -
20
o
5 5 30 20 40
16
r20 | s t 30
12 6 F15 z ] —— 5
20
5 o =12
8 - to T = — [ — 3
4 3 | 5 e L Ed L 10
0 0 o o
5 30 20 40
6 le = 8 | 24
4 ? - ®
L 12 T L 16
2 %
2 te 2 2, l s
R
o o o
5 30 20 40
300
360
300
‘ + 750
— 900
: D
250 —
~
5
200
e } 500
I~ t 600
4R1 [rer]
150 ™~ =)
I
3 — I
100 ] -y 300 S — I 250
2R1 ~ T ™~
T \
50 ™~ \\
.
o o o
50 70 40 80
1500
100
80
60 = .
40 <
20
0
5 70 40 80
40 <
T L 48
13
30 . 4
20 laooo 3 —T | 3 P32
T = —
< T Z
10 H 15 —_— rie
0 0 o
50 70 40 80
6 8
e = & : I 24
4 L T I L
2L 5, | — 16
S o
2 r 6 z 2 F8
o o o
70 40 80
Tolerance: ISO 9906:2012 - Grade 3B

¢

507

H [ft]

HP

NPSH [ft]

H [ft]

HP

NPSH [ft]



4MSH ~1450 rpm

Q (m3/h - I/min - I/s)
P2 3 45 6 75 9 10,5 12 13,5
TYPE 0 50 75 100 125 150 175 200 225
HP | Kkw 0,83 1,25 1,67 208 | 250 | 292 | 333 | 375
H (m)
AMSHA  |-8/2,2 3 2,2 56,0 55,7 54,2 53 | 463 | 402 334 257 16,2
Q (m3/h - I/min - I/s)
P2 6 75 9 10,5 12 13,5 16,5 19,5 22,5
TYPE 0 100 125 150 175 200 225 275 325 375
HP | Kkw 167 | 208 | 250 | 292 | 333 | 375 | 458 | 542 | 6,25
H (m)
-4/2,2 3 2,2 354 34,8 34,0 32,8 31,2 293 27,0 220 16,9 16
amshg 922 3 22 443 435 425 410 39,0 366 338 275 211 14,6
-6/3 4 3 532 52,2 51,3 499 478 447 M5 344 277 17,2
-8/4 55 4 709 696 68,3 66,5 63,7 59,7 553 459 36,9 23,0
Q (m3/h - I/min - I/s)
P2 9 10,5 12 13,5 16,5 19,5 22,5 24 27 30 33
TYPE 0 150 175 200 225 275 325 375 400 450 500 550
HP | kW 250 | 292 | 333 | 375 | 458 | 542 | 6,25 | 667 | 7,50 | 833 | 9,17
H (m)
-3/2,2 3 22 302 | 307 | 305 | 300 | 294 | 279 | 262 | 240 | 228 | 200 | 167 | 123
amshc "3 4 3 401 | 410 | 406 | 399 | 891 | 373 | 350 | 320 | 303 | 269 | 231 | 164
-5/4 55 4 501 | 513 | 50,8 | 499 | 488 | 466 | 438 | 400 | 378 | 330 | 278 | 210
-6/5,5 75 55 603 | 617 | 610 | 599 | 587 | 559 | 523 | 477 | 451 | 396 | 336 | 246
Q (m3/h - I/min - I/s)
P2 135 | 165 | 195 | 225 | 24 | 27 | 30 | 33 | 39 | 45 | 48
TYPE 0 225 275 325 375 400 450 500 550 650 750 800
HP | KW 375 | 458 | 542 | 625 | 667 | 750 | 833 | 917 | 10,83 | 12,50 | 13,33
H (m)
-2/2,2 3 2,2 183 | 187 | 184 | 180 | 175 | w2 | 165 | 157 | 147 | 123 76
-3/3 4 3 271 | 277 | 273 | 267 | 260 | 256 | 246 | 235 | 220 | 184 | 142
AMSHD  |-4/4 55 4 362 | 368 | 361 | 352 | 341 | 336 | 323 | 306 | 287 | 242 | 192
-5/5,5 75 55 452 | 463 | 454 | 444 | 432 | 426 | 410 | 390 | 366 | 309 | 253 | 220
-6/7,5 10 75 542 | 555 | 545 | 532 | 519 | 511 491 | 468 | 439 | 370 | 303 | 260
508

S




4MSH ~1450 rpm

40 60 80

20

30 40 50 o Qlimpgpm]
60

20

0 Qlimpgpm] 1o
0 Q[USgpm] 10

60 80 100

40

0 QUSgpm] 20

30 40 50

20

MIH dH [H] HSAN
. oo v % 3 B0
B @ BMV \B\B
o [/
/ ° [
/ 3 [
/ ° / \
/1 | /
/ / ? 1 \
/ / i \
/ g VL
/ / \ / ) / ,;
/ / ¢ L
/ [ \ AL
/ [ A\
[ g \ I\
PR Emmx R ’ ; m_ﬂx,_mé ) 3;3“ Nn_1 i GHH_A”..M&U -
MIH dH [H] HSAN
T i -
< ?
\
/
arQ ) / /
| /
ol |
/ ® |
|
/ ,,
/ ik /
/ \
/ \ \
\ \
olg \
’ ’ ) Ew:_ ) ) ) ; _M& ’ “%__ NM ’ aﬁs_ﬂmmm )

15 0 Q(mdh) 5 10 15 20 25

12

3

0 Q(md/h)

100 150

50

o Qlimpgpm]
0 QUSgpm]

80 100 120
140

60

40

o Qlimpgpm]
0 QUSgpm]

200

150

100

50

120

100

80

60

40

MIH dH [¥] HSAN
m m W 8 3 8 o ® © <+ o O ¥ o <« o
] I o o © © © o
‘W W 7 \D m M_a 77 v @
I ¥ @ o aflc oo a
‘D a 4 \D 9 ald /
Gty Ay ' \
/] \
/] ° \
S s
/) [/
/ / / S ] \
/ /A — of 3 T \
/ A @ 1 \
AVay, H \
/ / 1 |
" — — 8 R \
/ / / / (. |
) \ \
/ / / i Qg \ |
/ / / | [ g \
/ / / i | \
/ / / [ \
= = S \
/ / [ | \
/ i [ [ \
[ ——— \ |
| [ | | 2 \\ |
Ll T l T ° AL} A}
&
o
i
qE
olo
oto
m m w m m ¢0| o m m © < o~ o <+t ™ N ~ O
[WlH [%] U [l 2 [w] HSdN
MIH dH [¥] HSAN
m m m 3 ) © © ¥ o o 2 2 v o
['e]
™
. 5313 5833
O /] \ \
vavay. 88 \
/ / \
// | |
/ /] 9 | 1l \
/ / 8 [ Vo \
/)] ¥ I \
/ / \ / :___ \
VA i ¥ 1
/ / S W
[ ; 1
/ / / / \ R
Ay - # \ Rl
/ / / / / //:_
o
s \ uin
/ / ° [REN
/ [ / | . Wil
8
o8
olo
ot o
m w W n4v m % o o m w © < o~ O oY ®mN -~ O
[WlH [%] U [ %d [w] HSdN

50

15 20 25 30 35 40 45

10

0Q(m¥h)s

15 20 25 30 35

10

0 Q(m¥h)s

509

Tolerance: ISO 9906:2012 - Grade 3B

G



MSH-4MSH

C1

C2

STANDARD

DIMENSIONS (mm)

holes
DN D K
n° "]
40 150 110 4 18
50 165 125 4 18
65 185 145 4 18
80 200 160 8 18

510

S



MSH ~2900 rpm

w
z/58 DIMENSIONS (mm) 1
TYPE |z Q| @
Q82| A | B | c |ct|c2| F | G | H |H2 | D4 | | L | M
MSHA -3/5,5 ° 3| 604 | 2565 | 9225 | 5455 377 300 425 1100 400 500 | 1405
Y9}
MSHA -4/7,5 g ,; 4 655 3075 | 9735 | 596,5 377 300 425 1100 400 500 157
- | <
MSHA -5/9,2 % g 5 706 358,5 | 1063,5 | 6475 416 300 425 245 420 70 1100 400 500 | 1735
MSHA -6/11 % % 6 757 4095 | 11145 | 698,55 416 300 425 1100 400 500 | 1925
MSHA -8/15 i 8 859 51,5 | 1298,5 | 800,5 498 350 480 1400 500 500 | 2595
MSHB -2/7,5 2 | 553 2055 | 5315 | 4945 37 300 425 1100 400 500 137
MSHB -3R/9,2 8 Q| 3| 604 | 2565 | 9615 | 5455 416 300 425 1100 400 500 154
MSHB -3/11 © Q3| 604 | 2565 | 9615 | 5455 416 300 425 1100 400 500 158
Z|z 245 420 70
MSHB -4/15 &la|4| 655 3075 | 1094,5 | 596,5 | 498 350 480 1400 500 500 | 2205
Z z
MSHB -5/18,5 2|2 5| 706 | 3585 | 11885 | 6475 541 350 480 1400 500 500 245
MSHB -6/22 6 757 4095 | 1239,5 | 698,5 541 350 480 1400 500 500 265
MSHC -2R1/11 2 | 596 243 954 538 416 300 425 1100 400 500 165
MSHC -3R/15 8 Q3|3 | 656 303 1096 598 498 350 480 1100 400 500 | 2315
MSHC -3/18,5 Q Q3| 656 303 139 598 541 350 480 1400 500 500 | 2465
zZ\|z 245 445 60
MSHC-4R1/22 |2 | | 4 716 363 1199 658 541 350 480 1400 500 500 | 2705
zZ\z
MSHC -5/30 22|55 776 423 1286 718 568 350 495 1400 500 500 319
MSHC -6/37 6 | 836 483 1386 778 608 350 495 1400 500 500 358
MSHD -2/15 olo 2 | 596 243 1036 538 498 350 480 1400 400 500 217
MSHD -3R/18,5 g g 3 | 656 303 1139 598 541 350 480 1400 500 500 245
- | <
MSHD -3/22 E z 3 | 656 303 1139 598 541 350 480 245 445 60 1400 500 500 | 2555
MSHD -4/30 % % 4 716 363 1226 658 568 350 495 1400 500 500 303
MSHD -5/37 T 5 776 423 1326 718 608 350 495 1400 500 500 | 3405
4MSH ~1450 rpm
1]
z 5 8 DIMENSIONS (mm) 1
TYPE z |28 @
old/z| A B | clct|c2 F |G | H H2|Ds| I | L M
8| 9
€8
4MSHA -8/2,2 z z 8 822 | 511,56 | 1079 | 7635 | 315 | 250 | 415 245 | 420 70 1100 | 400 | 500 183
4MSHB -4/2,2 8 < 4 618 | 511,5 | 875 | 5595 | 315 250 415 1100 | 400 | 500 136
4MSHB -5/2,2 :@ § 5 670 | 3075 | 926 | 6105 | 315 250 415 1400 | 500 | 500 140
z z 245 | 420 70
4MSHB -6/3 o o 6 720 | 3585 | 977 | 6615 | 315 250 415 1400 | 500 | 500 171
=z Z
4MSHB -8/4 2| 2 8 720 | 4095 | 1104 | 7635 | 340 | 250 | 438 1400 | 500 | 500 200
4MSHC -3/2,2 8 3 3 620 | 303 | 876 | 561 315 | 250 | 415 1100 | 400 | 500 192
4MSHC -4/3 © g 4 680 | 363 | 936 | 621 315 | 2560 | 415 1100 | 400 | 500 194
z z 245 | 445 60
4MSHC -5/4 o o 5 740 | 423 | 1021 | 681 | 340 | 250 | 438 1100 | 400 | 500 202
=z z
4MSHC -6/5,5 2|2 6 | 800 | 483 | 1126 | 741 385 | 300 | 468 1400 | 500 | 500 206
4MSHD -2/2,2 ° ° 2 560 | 243 | 816 501 315 | 250 | 415 1100 | 400 | 500 135
4MSHD -3/3 g ’g 3 620 | 303 | 876 561 315 | 250 | 415 1100 | 400 | 500 167
— <
4MSHD -4/4 z z 4 680 | 363 | 961 621 | 340 | 250 | 438 | 245 | 445 60 1100 | 400 | 500 189
4MSHD -5/5,5 % % 5 740 | 423 | 1066 | 681 | 385 | 300 | 468 1100 | 400 | 500 194
4MSHD -6/7,5 R 6 887 | 483 | 1166 | 741 425 | 300 | 468 1400 | 500 | 500 218

@ 511



MSH-4MSH Serie-Mechanical seal and bearings

MECHANICAL STANDARD OPTIONAL
SEAL PUMP MODEL SHAFT @ MATERIAL "
MSHA'3/5,5-1328 | MSHB-2/7,5'1328 | Rotating face Ceramic Widia
4MSHA-8/2,2| 4MSHB-4/2,2 | 4AMSHB-5/2,2 25mm Stationary face Graphite Widia
| 4AMSHB-6/3 | 4AMSHB-8/4 Elastomer NBR NBR
MSHC-2R1/11-132M | MSHD-2/15-160M | . . -
AMSHC-3/2,2 | AMSHC-4/3 | AMSHC-5/4 | Rotating face Ceramic Widia
4MSHC-6/5,5-132S | 4MSHD-2/2,2 | 4AMSHD- 35mm Stationary face Graphite Widia
— iﬁs':[“ﬂ%%':’s'ﬁé“z's‘t‘“"s"”:’ﬁ/ 551325 | Elastomer NBR NBR
w MSHA-4/7,5-132S | MSHA-5/9,2-132M . - -
| MSHA-6/11-132M | MSHA-8/15-160M | o5mm / Rotating face Widia Widia
MSHB-3R/9,2-132M | MSHB-3/11-132M | Balanced seal Stationary face Graphite Widia
MSHB-4/15-160M | MSHB-5/18,5-160L |
MSHB.6/22160L Elastomer NBR NBR
MSHC-3R/15-160M | MSHC-3/18,5-160L . - _—
| MSHC-4R1/22-160L | MSHC-5/30-180M _— Ll e bl bl
| MSHC-6/37-180L | MSHD-3R/18,5-160L B -~ Stationary face Graphite Widia
| MSHD-3/22-160L | MSHD-4/30-180M |
MSHD-5/37-180L Elastomer NBR NBR
BEARINGS PUMP MODEL TYPE
g/l\gSéHA-B/ZQ | 4AMSHB-4/2,2 | 4AMSHB-5/2,2 | 4AMSHC-3/2,2 | 4AMSHD- 6205-27 C3 6205-27 C3
img:gﬁﬁ | 4MSHB-8/4 | 4AMSHC-4/3 | 4AMSHC-5/4 | 4AMSHD-3/3 | 6206-7Z C3 6206-2Z C3
MSHA-3/5,5-132S | MSHA-4/7,5-132S | MSHA-5/9,2-132M | MSHA-6/11-
132M | MSHB-2/7,5-132S | MSHB-3R/9,2-132M | MSHB-3/11-132M | MSHC- 6206-ZZ C3 6308-ZZ C3
2R1/11-132M
4MSHC-6/5,5-132S | 4MSHD-5/5,5-132S | 4MSHD-6/7,5-132S 6208-ZZ C3 6208-ZZ C3
MSHA-8/15-160M | MSHB-4/15-160M | MSHB-5/18,5-160L | MSHB-6/22-
160L | MSHC-3R/15-160M | MSHC-3/18,5-160L | MSHC-4R1/22-160L | 6308-ZZ C3 6309-ZZ C3
MSHD-2/15-160M | MSHD-3R/18,5-160L | MSHD-3/22-160L
1I\/8I%II-_|C-5/30-180M | MSHC-6/37-180L | MSHD-4/30-180M | MSHD-5/37- 6309-77 C3 3310-2Z C3

512

S



